
(( 2025р. rrlbrnm[lrufu р;пlgЬп{ << hrurIrulfupfubpnrrl rlruufuruЩgmJhfu р.;пr2Ьrпrчr{прrlшrlр
fitrrur|прr[ш0 брrчqпЬпh ]rршQrчtlrчgrlшtl hrurlrup tlru[umrnbur[ru0 чпtрr|Ьtlg[шfuЬр}r qnrrirup[r' purn

цl t,h дrlшlhрfuьпh hш ru0 чшhrlrufuш

<l<
(( dшрqЬр|r tr hшLIшlLрLЬпh

шLr|шLпLIILЬрр

unLp{btlg[rrul|r

рLrlhшLпLр qпLrIшр|r 50
LrrпЩпuр'

рLцhшЬпLр qпLLIшр| 50 Lпп!пuд'

qпрбрLршg[L rIшutlшЩ|rg

hш dшlЬрЬЬпh qбn{ 2025р.

СLцшdЬLр

I 2 3 4 5

сl,тцl.rЬl,с 500 000,0 500 000,0 1 000 000,0

<< цпцqцUпSъh uцпа
1 ЦzиrлпшЦ 23 в09,5 4в 941,7 72751,2
2 Гёшllttl 2з в09,5 2в 75в,] 52 567,6

з 23 809,5 6 409,2 30 218,7

<< цпцрцSh uцп2
1 [Jшu|ru 23 в09,5 52 349,3 76 158,8

<< цпuцq.hпh Uuг2
1 Цршрu 23 в09,5 14 419,2 38 228,7
2 Цпdшdhп 23 в09,5 27 497,5 51 307,1
з funl 23 в09,5 17 08з,9 40 893,4

<< qьrtцгрпhъhрh uцп2
1 Чшr.|шп 23 в09,5 30 927,1 54 736,6

<< Lпппь Uцг2
1 ,-lшLшбпр 23 в09,5 4в зв2,2 72191,8
2 ФшdршL4 23 в09,5 в 609,1 32 418,6
3 UrлhфшLш{шLr 23 в09,5 10 463,7 34 273,2

<< чпSцзяh Uцп2
1 Црп{lшtl 23 в09,5 з5124,4 58 933,9
2 РlпrрЬцшr|шtl 23 в09,5 6 677,2 30 486,8
3 (рrлqцшtl 23 в09,5 26 о44,1 49 853,6

<< сhгцчh Uцп2
1 Ц|uпrрlшtl 23 в09,5 33 7в2,0 57 591,5
2 ЧlnLrIp|r 23 в09,5 57 64з,0 8l 452,6

<< q.цзпз аппh uцга
1 UpbL|t 23 в09,5 6 в73,9 30 683,4
2 QhprInrL; 23 в09,5 4 411,9 28 221,4
3 ЬцЬq[u 23 в09,5 4 247,4 28 057,0

<< Sцq.пNGh Uцп2
1 1fuhgrt 2з 809,5 ,lз 59в,8 37 408,3

4 2шпЬLqшL|tлIl 23 в09,5 17 756,3 41 565,8


